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Calculations

3. Write down the answers.

(a) Add 238 to 567, then subtract 143

(b) Multiply 369 by 14, then add 834

(c) Add 94 to half of 778

(d) How much less than 1000 is 59 × 16 ?

✎
. . . . . . . . . . . . . .

1 mark

✎
. . . . . . . . . . . . . .

1 mark

✎
. . . . . . . . . . . . . .

1 mark

✎
. . . . . . . . . . . . . .

1 mark
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Temperatures

9. A book shows two ways to change °C to °F

(a) Fill in the gaps.

Using the exact rule, 25°C is . . . . . . . °F

Using the approximate rule, 25°C is . . . . . . . °F

(b) Fill in the gaps.

Using the exact rule, 0°C is . . . . . . . °F

Using the approximate rule, 0°C is . . . . . . . °F

(c) Show that at 10°C, the exact rule and the approximate rule give the
same answers.

exact rule

multiply the °C temperature by 1.8
then add 32

approximate rule

double the °C temperature 
then add 30

. . . .
1 mark

. . . .

. . . .
2 marks

. . . .
1 mark

. . . .
1 mark

✎

✎

✎
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(c) The newspaper predicts there will be about
20 000 male teachers aged 40 to 49

Estimate the number of male teachers that will be aged 50+

(d) Assume the total number of male teachers will be about the same as
the total number of female teachers.

Use the chart to decide which statement is correct.

Tick ( � ) your answer.

Generally, male teachers will tend to
be younger than female teachers.

Generally, female teachers will tend to
be younger than male teachers.

Explain how you used the chart to decide.

✎
. . . . . . . . . . .

1 mark

. . . .
1 mark

✎

✎
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